Remember These?





Carbon monoxide rigid rotator

Zeeman effect in the Sun

Remember These?





Carbon monoxide rigid rotator

Zeeman effect in the Sun

To explain these we invoked selection rules: $\Delta I = \pm 1$, $\Delta m = 0, \pm 1$.

Remember These?





Carbon monoxide rigid rotator

Zeeman effect in the Sun

To explain these we invoked selection rules: $\Delta I = \pm 1$, $\Delta m = 0, \pm 1$.

WHY? WHY? WHY?

The Question





To explain the carbon monoxide spectrum and the Zeeman effect we invoked angular momentum selection rules: $\Delta I = \pm 1$, $\Delta m = 0, \pm 1$ to understand light emission from the transitions between atomic energy states.

Where do these selections rules come from?

• Consider a charge at a point in space. It creates an \vec{E} field at all points in space.

- Consider a charge at a point in space. It creates an \vec{E} field at all points in space.
- 2 Let the charge move and the \vec{E} field changes.

- Consider a charge at a point in space. It creates an \vec{E} field at all points in space.
- 2 Let the charge move and the \vec{E} field changes.
- This disturbance of the \vec{E} propagates through space via electromagnetic induction - a changing electric field induces a changing magnetic field \vec{B} which induces an electric field...

- Consider a charge at a point in space. It creates an \vec{E} field at all points in space.
- 2 Let the charge move and the \vec{E} field changes.
- This disturbance of the \vec{E} propagates through space via electromagnetic induction a changing electric field induces a changing magnetic field \vec{B} which induces an electric field...
- If the charge oscillates sinusoidally, then you get 'typical' electromagnetic (EM) waves.



I How is the amplitude of the wave related to the oscillator?

• How is the amplitude of the wave related to the oscillator? $Amplitude_{oscillator} \propto Amplitude_{wave}$

- How is the amplitude of the wave related to the oscillator? $Amplitude_{oscillator} \propto Amplitude_{wave}$
- What phenomenon connects points in space so the wave propagates?

- How is the amplitude of the wave related to the oscillator? $Amplitude_{oscillator} \propto Amplitude_{wave}$
- What phenomenon connects points in space so the wave propagates? Electromagnetic induction

- $\textbf{ 0 How is the amplitude of the wave related to the oscillator? } \\ Amplitude_{oscillator} \propto Amplitude_{wave}$
- What phenomenon connects points in space so the wave propagates? Electromagnetic induction
- Solution Consider two charges $\pm e$ a distance r_0 apart and located along the z axis with dipole moment $\vec{d} = e\vec{r_0}$.



- What phenomenon connects points in space so the wave propagates? Electromagnetic induction
- Solution Consider two charges $\pm e$ a distance r_0 apart and located along the z axis with dipole moment $\vec{d} = e\vec{r_0}$.
- How is the electric field related to $\langle \vec{r}_0 \rangle$ and the dipole moment?



- What phenomenon connects points in space so the wave propagates? Electromagnetic induction
- Solution Consider two charges $\pm e$ a distance r_0 apart and located along the z axis with dipole moment $\vec{d} = e\vec{r_0}$.
- How is the electric field related to $\langle \vec{r}_0 \rangle$ and the dipole moment? $\vec{E} \propto \vec{r}_0 \cos \omega t \rightarrow e \vec{r}_0 \cos \omega t = \vec{d} \cos \omega t$



Energy Transfer in an Electromagnetic Wave







Jerry Gilfoyle

Radiation



Jerry Gilfoyle

Radiation



Jerry Gilfoyle

Radiation

Time Dependence of Coefficients



$$P(t) = |\Psi(\vec{r},t)|^2 = |ae^{iE_nt/\hbar}|nlm\rangle + be^{iE_{n'}t/\hbar}|n'l'm'\rangle|^2$$

$$\begin{split} P_l^m(\mu) &= (-1)^m (1-\mu^2)^{m/2} \frac{d^m}{d\mu^m} P_l(\mu); \qquad P_l^0 = P_l \\ P_l^{-m}(\mu) &= (-1)^m \frac{(l-m)!}{(l+m)!} P_l^m(\mu); \qquad P_l^{-1} = \frac{1}{2^l l!} \sin^l \theta \end{split}$$

For these equations, m is taken as ≥ 0 . In the formulas below, however, m may be < 0 also; $l = 0, 1, 2, ..., |m| \leq l$.

Differential Equation

$$(1-\mu^2)\frac{d^2P_l^m(\mu)}{d\mu^2} - 2\mu\frac{dP_l^m(\mu)}{d\mu} + \left[l(l+1) - \frac{m^2}{1-\mu^2}\right]P_l^m(\mu) = 0$$

Recurrence Relations

$$\begin{split} (2l+1)\mu P_l^m(\mu) &= (l-m+1)P_{l+1}^m(\mu) + (l+m)P_{l-1}^m(\mu) \\ (2l+1)(1-\mu^2)^{1/2}P_l^m(\mu) &= P_{l-1}^{m+1}(\mu) - P_{l+1}^{m+1}(\mu) \\ (1-\mu^2)\frac{dP_l^m(\mu)}{d\mu} &= (l+1)\mu P_l^m(\mu) - (l-m+1)P_{l+1}^m(\mu) \\ &= -l\mu P_l^m(\mu) + (l+m)P_{l-1}^m(\mu) \\ (1-\mu^2)^{1/2}P_l^{m+1}(\mu) &= (l-m)\mu P_l^m(\mu) - (l+m)P_{l-1}^m(\mu) \\ &= -(l+m+1)P_l^m(\mu) + (l-m+1)P_{l+1}^m(\mu) \end{split}$$

$$\int_{-1}^{1} P_{l}^{m}(\mu) P_{k}^{m}(\mu) d\mu = \frac{2}{2l+1} \frac{(l+m)!}{(l-m)!} \qquad (l=k)$$
$$= 0 \qquad \qquad (l \neq k)$$

$$\begin{split} P_l^m(\mu) &= (-1)^m (1-\mu^2)^{m/2} \frac{d^m}{d\mu^m} P_l(\mu); \qquad P_l^0 = P_l \\ P_l^{-m}(\mu) &= (-1)^m \frac{(l-m)!}{(l+m)!} P_l^m(\mu); \qquad P_l^{-1} = \frac{1}{2^l l!} \sin^l \theta \end{split}$$

For these equations, m is taken as ≥ 0 . In the formulas below, however, m may be < 0 also; $l = 0, 1, 2, ..., |m| \leq l$.

Differential Equation

$$(1-\mu^2)\frac{d^2 P_l^m(\mu)}{d\mu^2} - 2\mu \frac{d P_l^m(\mu)}{d\mu} + \left[l(l+1) - \frac{m^2}{1-\mu^2}\right] P_l^m(\mu) = 0$$

Recurrence Relations

$$\begin{split} (2l+1)\mu P_l^m(\mu) &= (l-m+1)P_{l+1}^m(\mu) + (l+m)P_{l-1}^m(\mu) \\ (2l+1)(1-\mu^2)^{1/2}P_l^m(\mu) &= P_{l-1}^{m+1}(\mu) - P_{l+1}^{m+1}(\mu) \\ (1-\mu^2)\frac{dP_l^m(\mu)}{d\mu} &= (l+1)\mu P_l^m(\mu) - (l-m+1)P_{l+1}^m(\mu) \\ &= -l\mu P_l^m(\mu) + (l+m)P_{l-1}^m(\mu) \\ (1-\mu^2)^{1/2}P_l^{m+1}(\mu) &= (l-m)\mu P_l^m(\mu) - (l+m)P_{l-1}^m(\mu) \\ &= -(l+m+1)P_l^m(\mu) + (l-m+1)P_{l+1}^m(\mu) \end{split}$$

$$\int_{-1}^{1} P_{l}^{m}(\mu) P_{k}^{m}(\mu) d\mu = \frac{2}{2l+1} \frac{(l+m)!}{(l-m)!} \qquad (l=k)$$
$$= 0 \qquad \qquad (l \neq k)$$

$$\begin{split} P_l^m(\mu) &= (-1)^m (1-\mu^2)^{m/2} \frac{d^m}{d\mu^m} P_l(\mu); \qquad P_l^0 = P_l \\ P_l^{-m}(\mu) &= (-1)^m \frac{(l-m)!}{(l+m)!} P_l^m(\mu); \qquad P_l^{-1} = \frac{1}{2^l l!} \sin^l \theta \end{split}$$

For these equations, m is taken as ≥ 0 . In the formulas below, however, m may be < 0 also; $l = 0, 1, 2, ..., |m| \leq l$.

Differential Equation

$$(1-\mu^2)\frac{d^2P_l^m(\mu)}{d\mu^2} - 2\mu\frac{dP_l^m(\mu)}{d\mu} + \left[l(l+1) - \frac{m^2}{1-\mu^2}\right]P_l^m(\mu) = 0$$

Recurrence Relations

$$\begin{split} &(2l+1)\mu P_l^m(\mu) = (l-m+1)P_{l+1}^m(\mu) + (l+m)P_{l-1}^m(\mu) \\ & \underbrace{(2l+1)(1-\mu^2)^{1/2}P_l^m(\mu) = P_{l-1}^{m+1}(\mu) - P_{l+1}^{m+1}(\mu)}_{(1-\mu^2)} \\ & (1-\mu^2)\frac{dP_l^m(\mu)}{d\mu} = (l+1)\mu P_l^m(\mu) - (l-m+1)P_{l+1}^m(\mu) \\ & = -l\mu P_l^m(\mu) + (l+m)P_{l-1}^m(\mu) \\ & (1-\mu^2)^{1/2}P_l^{m+1}(\mu) = (l-m)\mu P_l^m(\mu) - (l+m)P_{l-1}^m(\mu) \\ & = -(l+m+1)P_l^m(\mu) + (l-m+1)P_{l+1}^m(\mu) \end{split}$$

$$\begin{split} P_l^m(\mu) &= (-1)^m (1-\mu^2)^{m/2} \frac{d^m}{d\mu^m} P_l(\mu); \qquad P_l^0 = P_l \\ P_l^{-m}(\mu) &= (-1)^m \frac{(l-m)!}{(l+m)!} P_l^m(\mu); \qquad P_l^{-1} = \frac{1}{2^l l!} \sin^l \theta \end{split}$$

For these equations, m is taken as ≥ 0 . In the formulas below, however, m may be < 0 also; $l = 0, 1, 2, ..., |m| \leq l$.

Differential Equation

$$(1-\mu^2)\frac{d^2P_l^m(\mu)}{d\mu^2} \sim 2\mu\frac{dP_l^m(\mu)}{d\mu} + \left[l(l+1) - \frac{m^2}{1-\mu^2}\right]P_l^m(\mu) = 0$$

$$\begin{array}{c} \textit{Recurrence Relations} \\ \hline (2l+1)\mu P_l^m(\mu) = (l-m+1)P_{l+1}^m(\mu) + (l+m)P_{l-1}^m(\mu) \\ (2l+1)(1-\mu^2)^{1/2}P_l^m(\mu) = P_{l-1}^{m+1}(\mu) - P_{l+1}^{m+1}(\mu) \\ (1-\mu^2)\frac{dP_l^m(\mu)}{d\mu} = (l+1)\mu P_l^m(\mu) - (l-m+1)P_{l+1}^m(\mu) \\ = -l\mu P_l^m(\mu) + (l+m)P_{l-1}^m(\mu) \\ (1-\mu^2)^{1/2}P_l^{m+1}(\mu) = (l-m)\mu P_l^m(\mu) - (l+m)P_{l-1}^m(\mu) \\ = -(l+m+1)P_l^m(\mu) + (l-m+1)P_{l+1}^m(\mu) \end{array}$$

$$\begin{split} Y_l^m(\theta,\phi) &= \left[\frac{2l+1}{4\pi} \frac{(l-m)!}{(l+m)!}\right]^{1/2} P_l^m(\cos\theta) e^{im\phi} & Y_l^{-l} &= \frac{1}{2^l l!} \sqrt{\frac{(2l+1)!}{4\pi}} \sin^l \theta e^{-il\phi} \\ \int_{-1}^1 d\cos\theta \int_0^{2\pi} d\phi \, Y_l^m(Y_{l'}{}^{m'})^* &= \delta_{mm'} \delta_{ll'} & Y_l^0 &= \sqrt{\frac{2l+1}{4\pi}} \, P_l(\cos\theta) \\ P_0 &= 1 & & \sum_{m=-l}^l |Y_l^m(\theta,\phi)|^2 &= \frac{2l+1}{4\pi} \\ P_1^1 &= -\sin\theta & & Y_l^{-m} &= (-1)^m (Y_l^m)^* \\ P_1^{-1} &= \frac{1}{2} \sin\theta & & Y_0^0 &= \left(\frac{1}{4\pi}\right)^{1/2} \\ P_2^1 &= -3\sin\theta\cos\theta & & Y_1^1 &= -\frac{1}{2} \left(\frac{3}{2\pi}\right)^{1/2} \sin\theta \, e^{i\phi} \end{split}$$

$$\begin{split} Y_l^m(\theta,\phi) &= \left[\frac{2l+1}{4\pi} \frac{(l-m)!}{(l+m)!}\right]^{1/2} P_l^m(\cos\theta) e^{im\phi} & Y_l^{-l} &= \frac{1}{2^l l!} \sqrt{\frac{(2l+1)!}{4\pi}} \sin^l \theta e^{-il\phi} \\ \int_{-1}^1 d\cos\theta \int_0^{2\pi} d\phi \, Y_l^m(Y_{l'}{}^{m'})^* &= \delta_{mm'} \delta_{ll'} & Y_l^0 &= \sqrt{\frac{2l+1}{4\pi}} \, P_l(\cos\theta) \\ P_0 &= 1 & & \sum_{m=-l}^l |Y_l^m(\theta,\phi)|^2 &= \frac{2l+1}{4\pi} \\ P_1^1 &= -\sin\theta & & Y_l^{-m} &= (-1)^m (Y_l^m)^* \\ P_1^{-1} &= \frac{1}{2} \sin\theta & & Y_0^0 &= \left(\frac{1}{4\pi}\right)^{1/2} \\ P_2^1 &= -3\sin\theta\cos\theta & & Y_1^1 &= -\frac{1}{2} \left(\frac{3}{2\pi}\right)^{1/2} \sin\theta \, e^{i\phi} \end{split}$$